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PART : MATHEMATICS

1i. Thess are B white and £ Black baks in bag. A dios = hrosan and rembes indicaie on dos, numier o

bafds e drawn froom he bag, fhen profabEity hat all drawn baks as ahibs

4 i 2 5
[T} = 2} — (3 —= [d) —
= 5 5 Fi

Ans (2§

=0d. Probabhilily of sl dravwn bils whis

ll Ree : :-,::ﬂ | o o :E_1 fes o

ELl:nl e, e x W p TR 'T-E_I

10 Gl Aufed | RSl - 6adM) e
610 1=y EtaR I AT MR T e It |
1 1 | B | 4

— e —

10 18 36 OxBxT 967 D056

| AL O, i i |

10 1B 36 B4 252 00«4

1 | i i i

k. i
i 12 -84 252 1260

12 - |

. +
130 -84 252

12F 2 1 254+ 24010 504 1
= —t < = i
1260 21 252 2524 292y -5
2. H 5 is Mhe sat of values of % . 2 b whichE — 50 =748 . b—i « 27+ ok and & - 3] — 4] L5k are copfanar snd

Lo pm Sinenlnd 7= 17

Ane.  (2290)
A =] ]
2l - ;||;—'|'.I
3 -4 §

Al T0adpu) + T5=3p) « 1i-49-6i=0
l0e = &gl ¢ S-Jp—10 =0
(W TR [ TR — i |

Al Al 1iil
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Ans

Ans

1S} & dpESeph -3 = 5
10+ 20 - 3p i dp” =50 =5
4« T ~44-1

dppt+ 120 4 150 « 45 =1
dpfjad) =15 (prdp =D

4 15
- e - —
B 1

—

NN

Lo B L e D e
1

e, [g.;.—EEE Epu 13 -"‘"}m - 1040 + 1250 - 2290

Mumiber of 3 digits numbess formed by using digits 1,3, 5. B which are divisible by 3, Il petition of
diggits [ allowed in & nuirtse, i -

[1}.22 (2] 25 {3) 28 [} 31
(1)

S o Ihress digits s 3 hen dgis ae 1. 1.1

S ol e dhgils =8 ihen dgils & 1. 3,500 3,3, 3
S o [hree digils & 12 then chigils are 1, 3, B

S theee digils = 15 then digids are 5, 5.5

S ol thige digils BAB Ihén digis are 5.5, B

S of hree dgits & 21 then dighs are 5, 8. B

Suem o N dgils =24 hen dinils 3= B 88

|
Mo possibie number are =1e4Fatat s 4m ]

=] Bl aBal¢T Tl
-2z

Lt a and boare b pasillee nuimibers. Two ANS biw hen e A, and A, Three GAVS béw & and B
ae Gy, G and G, thenvaieol & -Gl GGG -
(1) Gt e Az (2} Cutay - Azl
(3 GuEsla, ~a i YR N S O |
{3}
B AT g e BER L (avh
" | 3 B
alse G - I.u“hl:'.‘.:j._g =ah.o, _I:ah"'b‘
&G =a'h, 5] = a5, 5] - an’

= Ciy 1 G 4 G 1 GG =ahiah 1ab

= ata® . zan g u7)
= s o bP

- 5,E (A, AT
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5. My af resal Soluticn of (ke egualion s K] =-5Sx +2 | « 8= 0 aEe
(1)1 12} 2 (3} 3 {d} 4
fps.  (3)
S, S8 -3 2| + B=0,
Casge-] g -2, = s5ly P+ E=1
=51 =i =0
25 5

-" I_—.1E —
K2 - S F + A

5+ 1."E§
&= a——

|

Cage-ll -2 &l
4T =-S5 -10+E=0
Cigkildl =l — ¥-1,-4
==t |
Case-ll Kx0
W¥W-Bx-id s B=0
17— Bl - ]

E_E_'JH

2

5+ 441 5- 44l
o == == |4 mem mmn
2 2

mhurmbes of solidion = 5

E. Lel ARCD e 8 guadrilEenal © and F & mid palnie of AC & BD mspeclively.
il (78 _BC|. (A0 _O0| = & ED Ihen vahie ol K is agual 1o
i1 2 (23 i34 (4] &
Ans.  (3)
S, Let PV &R/ 8 5. Oare goc and d resp. mid-paind ol ACISE

- PN of E mre | 1.;-: |

flid point of BD & F
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=]
i
]

O}
; e

Ala)

B
o n.vurra.e|t'—é"1|
[#8 - BEJ- (A0 - D= b-a}- -5} ld-a)- -l

- F0-Pa-2c .20
= h o) —TtE dof

e Ay fied —
-u.|-'_|- et i
|72 175 ]

T. Mean of Eﬂ'ﬂbEEfl.'i.'dlL“ﬂiS 1 and stancard deviaSan is 3 bul one obSeredtion S0 & migread as 40 then
COMSC] VAENCE. S
i1} #7148 t2 1728 [} §92.£ id) 15455
Ans. (1)
T,
2ai. —'_'Tzll-l—.-[h.=ﬁ'|:l'l
Al

GO 5 % = 3= U & M =311

=

T i
= L =64

-

I.o-

22X 16

i-'|.||
- A3
Corméd By, s 4 L560
- FN4
= SO0
i ,
it L
)
Gk (550 |"
s 150
= 182 - 120
= 171.8

Coifec vArante 0° =

B # pergan Torgel PIN of AT card. PIN has low dgils and all dighs s dileren!. Greaes digilin PIN s
7. Sum ol lirsl bwo Sgiks o PN S egual o som of 1esi bwo diglis ol PING e maaamam nuriiey of
unsuseesslul allempls &
i1} 72 (2} 36 (3171 4] 18
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Ans. (3

Sal. Led the correct ATH PN s abod. (ab.ed < dgibs) suchilal 3 b = + 4
L&l magimuem (&, B = 7 -3 o b ean take 7 8.0,10, 11
0 7#s b =Ced=7case |1, 8L 250 03 45 14,3). 3 2L 161
(1,72 eb=8B —asd=-8casze (2 6).(3,3), (5 3.6 2)
2 7itsbaB —gsd=2case (3, 6] (4.5) (5 4], 6.3
(3 7iaeb=id o d= 10 838 (4, ), |8, 4]
4, 7idb=i2 = ced= 11858 (5, 6); |6.5)
Hesmge Iotal Mumbser al afiow = 18}
Mow a_ b can bean charged by 2 mathod and in place.of &, b we can be laka e, & #lso
S0 lokal nonber of empl = 18 22 o2 = 72
5o mackmum numbes of EEaandessld] BiEmMp = 72 1= T1

B. Hap = irvielmmndaty (1« xe [x], 5% 4 2 % 2 =]} 0 < g <2
11 s ol non-dilferentiabilty poind is B and nerder of pont of discontinuily is 8" then 2 + b= egual
i pahere L] denoles G.LF)
(12 {24 (3} 3 M1
Ans, (1)
Sal. M=} eiamenuin {1axe]x], x = 2. & 2x]}
[ w
| & L=
Hx} = disconnuous and non-dillersniabie:
&l x = 200k
T@E=1hb="1
as+bh-E

10 Lot fx) =160 (457 + 1 1%00) & S (dx « 35 4 .:ng-'fm':‘]_'ﬁ'[ ant darain of Nx) is {a, ] us squs o

i1 2 (2} 3 (3} 4 [4j &
Ans (3}
. il +&
20l dxf e 1ix 80 and -1 cdx s 3<1 el = ; <1
O =l g dyg g -2 =25 10x+ B
1
Sox s H 1 LExg = — —E'.'J:i-1
= 10 [ 6]

. : e
S Domainol lixh isx = = = J
| o' =

{ 8 1] .
P it ||'.H|j—|:| :":l — — s — ;—g— =4
ol 22 o
11, The |'||‘.'-'='|E|Ii|.'|r'| ol 1Fe slatemsnl
ALpaigsi~pwa))is
i) pa=q (2] =pa g [3}=pwv=-q {8) ~poaq
Ang.  {3)
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Sol. pailgai~pval

=g alpal=pvql
=gaipa-pivp g

=galeyip . gy
=g pad)
- {p o g
Hence tegadion of The Shave statedneni i (8 v ~q)
| | | | | | .| | | i i3
12 - . lal e imm i b e |
-|-|"II='|IH|I.1EI'.'IrI_I T FARE TR M R P RE TRt B vl m, o are
I'.1.'I|.'|I'r'|!-E:I e wale ol (m+ 5 = E!:I.I.Iﬂ fa)
12 2j3 {315 47
Ans . {d)
e 5.11-|J|+1 | t |1 1 B | 2
i '.'nuh:”3 Y z.:_ T O e M e 4=

| I
Bl = ;d.:.'——1

5 *r
A Lol B Rl EO S
4§

ix-wl fog i) - 3 -2
- Py labe oo o Jo b iy sy i) =
iz vl -
. \ 3 . o -
h-a —l."-_ll—l_'n-".—:.- S S
i
-
1 i
= EEy
- —— — —
I-l.I !—l.'| -
o LiN Wy =
=4 L

pul &= j—lam:'_.'-—_

o B
T
S+ [ 7

g1  ¥+2 g

 E A plane |s passes Traugh the ponts AT, 1.7), B-2.3.2) end CI0L1.0) and Bne —— = I ;_J inlersaci
this glare al poind P, @en distance ol P am ovgin s
(1} 30 (2} +29 i) J1h (&) JaaT
Ans. (1)
S, Equalion of ptane =
sl y-3 e W

1y 1% 1 =D

g-d -0f—{¢ -3 2+ 2} 20 -4] =0

[ B
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do =iy & 12 —d2 =]

oy e Es A 1]

Lt pertt Pris 1 =20, -2 5 4y
=2 —2—-5 4di =]

o=l

Sa P-T, -6, 16)

Diskante OF = 40, 36+ 250 =+ 341

14 g m - i ™ Ytind -
ol% 2% :".'_H:l pattia ] g o & | o
Bns. (2]
oLkl il
i I= . ez | L
.I.'t.ﬂ-:.. :;'Hh:""}
fm I- i
T
i-l d:l.-\. | -
305 Zxaedx-- Ax .-|.I-|.*"""'l|
= ils
-.-.11—]1".I|I- .IJ |
i d-l r
4
&
= —r— . 2 L JA {21
.||_=.—:|_-I_..-|‘|.I_E- -II1J

From {1)and {23

Hemce & =1 1 fi=2 11}
el =i =121 —100= 21

i5. Led A omin i o= 30— Fisa malliphs o 7,10 < n <100 | ihen numbes ol slemmeanis e il 26 A i agqual 1o
Ang. 45
S, 37— 3 div By 7 = 3" TE e'd
2 3 = & (im0 T} o
Mow = 3" . 3 (mod?)
=3 o F =2 [modT)
3 3 o BT
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6.

ia.

s

e L N [
= 3 o5 (modT)
= 3* » L [madT)
= F o3 (MKIT)
S we can-say that 37— 3 s divisibhe by 7l =1, 7. 13,198,325,
&4 10.< n < 130
=i = 1349, 25,31, .. - B
Hence mumber of elemant in st A 15

Maleix A hiving ardés m sucl thal WA = (mje hen value of [ adj (admi)] =

”I H'Illﬂllm e ‘IEJ ﬂ"{lﬂ:l'H"'“_T'J
r:‘ll n'|"-|r'|:||'=""'"'"'"|:| ‘I'.:I nn,im:llrl-nl.'n-'l'l:'l
[A] = e

In ack{ack mA)| = o jadjiad] mAY

- i mA

P - n'lm-1|'"-'|AI|mT|:

= I_.Ilr r.l.llmr\—llz I:r,l-rlrr.-l?=

|
- I1ﬂ rrllm.pln.k.
Mumbes of Common 1angents of dirkes < o 4" - 13x - 15y + 1 =Dand 5"+ ¥y -G -6y - 7 = 0 1%
13 i2) 4 (3} 2 (4] 1
()

A | k] ) e}
13 ﬁ|.-- EI oy |'1r.u'.__'| CE [i-g_
¥ 1 g [

1

Cyi .:Iﬁ = #+9=T =425 =4

1 |
'r-.l!.'.:-- ——1]‘——_".' = EIE_'\IE _1||$ - 5T

Hesie r| =t o B0 o 01 402
S0 bt o Barmimon BI’!:]EI'H‘E

Al
Hiasbx st - EP.H' And i = 20 fiz = 2400 he widue of 2{gsbac) | equsl o (whare 2, bcaN}
(1]

{1} 18 (2} 12 (316 (4] 10
h
(yerig al it - e PRI
girin

Cosfliciesd ol & = p, = W h-1n

e

=2 .1

11} SEURNPSERCTU || |

Cosflicient ol x¥ = o - a'c=30

T e T

45 af7a 1 Date- 240
& aM7a2 ale~ 4B ... {2)
By{lia beN 5 a=1b=2
By (23 &= B
Hence 2lasbic) = 18
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19. Cribgocemne of & Fiangle havind serlices asA (1. 20, Bid. -4 amd Ci0. &1 is

(1} 128, -37) 2} [7. 3} (3} (128, 37}
Ans. {1

AT, 2

M

el 1l

Tl — e —

- =3 3

Equalion of affude AD s
3
S |
4 Il

By — 10y 4 17 =0 . i1

244
g TR
ey

Copiafion & sfude CF is

i
i '.'-I-EI'F—EI:I

% =Ty« M =0 = i2)
Pomil o itersscian ol bolly 2Riludas &=

H =129, =37}

2 and abowe x-arE i A Then @re valos of dim 4 405 = egual o
(21 (2] 28 &) 42

Ans.  (3)

14} =37

id} 49

-128)

A al region bounded By cuivs 29 = 3, line x « § = Jand § = 0, @sxcloded aea ol cros (&

af &y -



Gy salvirsg

R L

Bhaves- 5 By= 5

S0 reguared mpea

- !"...Ijl-i:-. dx -I‘:rzl .::d;

ared ol saclior of chrcle




